
Gravimetric Determination of Nickel in a 5-cent Coin

Calculations:

1 mole Ni(DMG)2 = 1 mole Ni
MW Ni(DMG)2 ⇒  288.9 g/mole

MW Ni  ⇒  58.67 g/mole

mass Ni(DMG)2 = [mass crucible + Ni(DMG)2] - mass empty crucible
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Taking into account dilution from stock solution of the 5-cent coin:

mole Ni in 25.00 mL stock solution  ⇒  1/20 of total stock solution
(mole Ni in Sample) x 20 = mole Ni in coin

(mole Ni in coin)(MW Ni) = mass Ni in 5-cent coin
mass Ni/mass 5-cent coin x 100% = % Ni in 5-cent coin


